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HRES (EERE2R) REBAT BSEAH i =
1 17| &2 AN BT Ry Z— (VARRAHFE) H9. 3. 24 41,715 4
2 2232|=EAWT AT 2 — (FARRAFNE) H9. 3. 24 6,901 10
3 39262|EaEikeE BT Ry Z— (VARRAHFE) R2.6.3| 418,000 1
4 39263|AED AT 2— (VARRAFNE) R2.7.14| 105,652 1
5 39264 |smBERas x5 274 @EEENS) | RE Y X — (7 AARAITE) R2.7.31 715,000 1
6 39265 |hanmEimn £ 5o 274 (REEL) AR Z— (VT ARRAIFE) R2.6.26| 715,000 1
7 39266(/¢y 3> BHARRE Y2 — (VARARAFNE) R2.7.31| 161,250 1
8 39267|/¢v av AR 22— (VAARAFE) R2.7.31| 161,250 1
9 392682 7'L v higR AT 2 — (FARRAFNE) R2.7.31 38,300 1
10 39269| ARy 7 X BT Ry Z— (VARRAHFE) R2.5.20| 217,800 1
11 3R272|BR=EWEEBELSHE (f) |BARREY&— (FOXRAFE) R3.3.29| 4,991,250 1
12 3R273|BER=EWEEE2SH (H) |BARXRtry4— (VOXRAFE) R3.3.29| 4,991,250 1
13 39311 | A& F— 7 QAH#NS) AT 2— (VARRAFNE) R2.6.18 50,600 6
14 39312 | R&BHBTF AT 2 — (VARRAFNE) S2.6.18 33,550 12
15 39313| R &FF AT 2 — (FARRAFNE) R2.6.18 43,340 19
16 39314 K& Y 7 7 — (A#HNT) AT 2 — (FARRAFNE) R2.6.18| 194,810 2
17 39315 KRB Y — L (—A#HT) AT 2— (VARRAFNE) R2.6.18 41,360 4
18 39316/ K&t 2 —F—T L BT Ry Z— (VARRAHFE) R2. 6. 18 91,300 2
19 39317| A& F L ER— K BHARRE Y 2 — (VARARAFNE) R2.6.18| 176,000 1
20 39318| K&~ F BHARRE 2 — (VARARAFNE) R2.6.18 64,460 8
21 39430(/" v PRI A v LX< A Y |BARREY &2— (FORRAFE) R2.7.17 31,770 3
22 39431 XA LV RTAV LR A U |BARREYZ— (FORARAFE) R2.7.17 36,308 3
23 39432|7 4 Y LAY A U KBS BHR R 22— (VAARAFE) R2.7.17 31,486 2
24 39433| KA F v <47 BHARRE Y Z— (VARARAFNE) R2.7.17 16,504 1
25 39434\~ A VR —F AT 2 — (FARRAFNE) R2.7.17 5,501 1
26 39435|7n7ET—LRATA s 22 K |BARREYZ— (FORRASFE) R2.7.17 14,183 3
27 39436| Xl = AT 2— (FARRAFNE) R2.7.17| 283,654 2
28 39437|5lEHL1I=v b AT 2— (VARRAFNE) R2.7.17 39,396 2
29 39438| TV RN A =T 4 A I F Y — |BARFK LY Z— (VBRRNAFHE) R2.7.17| 183,850 2
30 39439| TV RARATFRA vy Fr— |BAXREYZ— (FORRASFE) R2.7.17| 288,907 2
31 39440| ABEA S/ SR IL BHRRE Y2 — (VARARAFNE) R2.7.17 78,793 2
32 39441|SD/USBX E U —#ECOF LA ¥ — B TRE VX — (/R AL FE) R2.7.17 65,661 2
33 39442|BD/DVDL 0 —&'— BHARRE Y2 — (VARARAFNE) R2.7.17 34,143 2
34 39443| 7 v o Uil AT 2— (VARRAFNE) R2.7.17 3,616 2
35 39444/ R ) a—Lav bO—F— |BARREY&— (FOXRAFE) R2.7.17| 120,816 2
36 39445\ BRF L= v b AT 2— (FARRAFNE) R2.7.17 55,768 2
37 39446\ BT AV v & — BHARRE Y2 — (VARARAFNE) R2.7.17| 738,121 3
38 39447|150REEHR 7 U — BHRRE Y2 — (VARARAFNE) R2.7.17| 244,512 3
39 39448| 4 KM ISRRT L E AT 2— (VARRAFNE) R2.7.17 63,249 3
40 39449(BE TR E (RET L ER) |BARREY4— (FOXRAFE) R2.7.17 17,116 2
41 39450[a kBTN — LA Fa2oLa—g— |BRARIREY Z— (F ORRAFE) R2.7.17 66,997 3
42 394515 E BHARRE Y2 — (VARARAFNE) R2.7.17 71,482 1
43 39452(#m R v b AT 2— (VARRAFNE) R2.7.17 9,842 2
44 39453|7 v T A hET S BHRRE Y2 — (VARARAFNE) S55.6.30| 450,000 1
45 39454|BAE [ ¥ ¥ —, A¥¥—] |BARIRELYEZ— (FORRAFE) R2.7.27| 500,000 1
46 39455 R R v SHEFERREER |BARR LY &— (FORRAFE) R3.3.31 60,500 1
47 39456/ i3z BHARRE Y2 — (FARARAFNE) R3.3.22 12,980 1
48 39457|F 2 7 R— % — AT 2— (VARRAFNE) R3.3.5 41,393 2
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49 39458|F = 7 R— % — AT 2 — (VARRAFNE) R3.2.16 41,393 2
50 39465/ AR (F v X2 —{F&) AT 2 — (FARRAFNE) R2.6.22 25,193 6
51 39467|&mT (Frre—Fx, @Rl |BXRREY 22— (FORRASHFE) R2. 6. 22 47,836 2
52 39478| K& A X BHARRE Y Z— (VARARAFNE) R2.6.22 28,623 4
53 39480| A& 1 = BHRRE Y 2 — (VARARAFNE) R2.6.22 28,623 4
54 39482|=HH T (FEL) B Ry 2— (VARRAHFE) R2. 6. 22 27,349 4
55 39485|m— XY — L AT 2 — (FARRAFNE) R2.6.22 16,174 2
56 39487|X /Y —v T =2 BHARRE Y2 — (VARARAFNE) R2.6.22| 178,406 1
57 39490|7 v (3E)) AT 2 — (FARRAFNE) R2.6.22 30,143 4
58 39494|> 2 L v X— (A3HG) AT 2— (VARRAFNE) R2.6.22| 141,156 1
59 39498575 nsmsr iy b @mrrn wRi-aan) AT 2 — (FARRAFNE) R2.6.22 57,835 4
60 39500(777r3mrc iy b @AmR, SR<-280) AT 2 — (VARRAFNE) R2.6.22 58,717 3
61 39503|a@7— 70 (Fv2&—f, W2400) (B TRtE Y & — (V RRANAFE) R2. 6. 22 78,861 1
62 39505| A1 X BHRRE Y 2 — (VARARAFNE) R2.6.22 19,066 6
63 39508|m 74 bE—FRs U~ (Frvzsa—5) |BARTREY Z— (Z OIS FE) R2.6.22| 106,014 1
64 39513|7=71 (Fexs—tf. 77y TAE) BHARRE Y2 — (VARARAFNE) R2.6.22 41,906 6
65 39516|7—71 (rrvzs—ff. 75y7maR) (AR REY X— (VOIS FE) R2. 6. 22 41,906 4
66 39521 |1 F AT 2— (FARRAFNE) R2.6.22 18,380 23
67 39522|#F AT 2— (VARRAFNE) R2.6.22 18,380 23
68 39524z 7 U —v (ERAREMED) |BARREY 42— (FOXRAFE) R2.6.22| 108,808 2
69 39530|2A8 Y 77— (#yyav2@AY) [BARREY 4 — (VDAL FE) R2.6.22| 111,357 1
70 39533[A—2y - (FvrE—fix) |BARIREYZ— (FOXRAFEF) R2.6.22 22,742 3
71 39536|0 — 7 —7 /L (FBAEXRKR) |BARREY 42— (FOXRAFE) R2.6.22 54,894 1
72 39540(7— 7 ChBINA &4 7) |BARREY &2— (FORRAFE) R2.6.22 39,700 2
73 39550 |8 &4 (150kg/EX - &E£A) AT 2 — (FARRAFNE) R2.6.22 39,798 1
74 39551 |mam asow/s - mw) @@y s—r7L -2 BARRE Y & — (VB ARAFE) R2.6.22 38,622 1
75 39559 |swm ¢t 507 150 o s—rTv—zae) | BAHRRE Y R — (F BRAXALFE) R2.6.22 48,375 1
76 39560|FFH*= AT 2— (VARRAFNE) R2.6.22 25,781 4
77 39561|EHFF BHARRE Y 2 — (VARARAFNE) R2.6.22 41,171 1
78 39562 | EM (200kg/Ek - EA) |BARIREY 42— (FORRAFE) R2.6.22 39,798 1
79 39563 |+ezr Cove/s - mw) @@ s—r7L-250) AT 2 — (VARRAFNE) R2.6.22 37,789 1
80 39564|F = T R—& — AT 2— (FARRAFNE) R2.6.22 29,604 8
81 39565|#rc (Frvra—fFx, mEEREL) |BARRtYX— (FRIXNAFE) R2. 6. 22 21,222 1
82 39566|F =4 (500kg/Ex - EAK) AT 2— (VARRAFNE) R2.6.22 54,894 1
83 39567 |#am Gove/st - ) (=775 —n7L—2) AT 2 — (FARRAFNE) R2.6.22 51,366 1
84 39568 zenaam can-sivem crosmmmsi-se | BRRFAE Y X — (AR FE) R2. 6. 22 50,091 2
85 39569|ExAAyH— (6 AR £ vasp) |BXTREY 22— (FORRAIFE) R2. 6. 22 56,855 1
86 39572|pE—F = 7 — AT 2— (VARRAFNE) R2.6.22 59,305 1
87 39573| %4 KF—7 AT 2— (VARRAFNE) R2.6.22 44,798 1
88 39574|F BHRRE Y2 — (VARARAFNE) R2.6.22 22,252 4
89 39575|7 71 (Fvzsa—f. 75y 7mEpE)  |EXTRELY Z— (FORANSFE) R2.6.22 39,945 2
90 39576|F (FvR&—{F%) AT 2— (FARRAFNE) R2.6.22 55,874 4
91 39577|#F AT 2— (VARRAFNE) R2.6.22 10,685 240
92 39579|EBHEA AT 2— (VARRAFNE) R2.6.22 10,293 1
93 39580| @R T A hR—F BHARRE Y2 — (VARARAFNE) R2.6.22 43,229

94 39581|@BRF— (HA00 - #v~—x) |BARREY & — (F ORRAFE) R2.6.22| 171,054

95 39582|f B AT —Y AR Ah—+ AT 2 — (VARRAFNE) R2.6.22 5,293 22
9 39583|fZ R T —YARATY 7 B Ry Z— (VARRAHFE) R2. 6. 22 12,939 2
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97 39584E A AT 2 — (VARRAFNE) R2.6.22 93,124 3
98 39585 | AlnEREA AT 2 — (FARRAFNE) R2.6.22 82,341 3
99 39586|TE & BHARRE Y2 — (VARARAFNE) R2.6.22 61,266 3
100 39587|PE—F = 7 — AT 2— (VARRAFNE) R2. 6. 22 59,305 1
101 39588|% 4 KF—7 AT 2 — (FARRAFNE) R2.6.22 44,798 1
102 39589| X R bRy 7 R BHARRE Y2 — (VARARAFNE) R2.6.29| 147,627 8
103 39590| Rl b/S—F— 3 v B Ry Z— (VARRAHFE) R2. 6. 29 13,978 10
104 39591 |BmEEN LT v a AT 2— (FARRAFNE) R2.6. 29 18,637 2
105 39592 T v BHRRE Y2 — (VARARAFNE) R2.6. 29 2,796 4
106 39593| L — kT va BT Ry Z— (VARRAHFE) R2. 6. 29 69,889 1
107 39594 |BR A F% L BIUAR v &7 X AT 2 — (FARRAFNE) R2.6. 29 54,048 1
108 39595\ % RAB T AT 2 — (VARRAFNE) R2.6. 29 18,637 4
109 39596 | % IBRAAT— 7L AT 2— (VARRAFNE) R2.6. 29 62,947 2
110 39597 | % RAB T BHR R 22— (VAARAFE) R2.6. 29 25,635 8
111 39598| R 234 BHRRE 2 — (VARARAFNE) R2. 6. 29 67,136 1
112 39599| B L OXKIEA AT 2 — (FARRAFNE) R2.6. 29 80,189 4
113 39600| L 2ALA PRy 7R AT 2— (VARRAFNE) R2. 6. 29 3,727 6
114 39601| =& U —Rvy R AT 2— (FARRAFNE) R2.6. 29 2,889 17
115 39602|A—& —& R bRy 7 R AT 2— (VARRAFNE) R2.6. 29 12,860 10
116 396037 — 7L AT 2 — (VARRAFNE) R2.6. 29 79,207 30
117 39604|7 =27 F 7 (Ly R) |BARREY&— (FOXRAFE) R2.6. 29 25,961 5
118 39605\ — 2o F 7 (54 +7n—) |BARREYZ— (FORARAFE) R2.6. 29 25,961 5
119 39606 |5 ESS AT 2 — (FARRAFNE) R2.6.29| 324,122 1
120 39607|RE—F /X2 R BHARRE Y Z— (VARARAFNE) R2. 6. 29 21,640 3
121 39608|EAT—T L AT 2 — (FARRAFNE) R2. 6. 29 32,615 30
122 39609|EAT—7IVHARE AT 2— (VARRAFNE) R2. 6. 29 65,230 3
123 39610|EAF = 7 AT 2— (FARRAFNE) R2.6. 29 15,003 60
124 39611|BAF = 7HAEE AT 2— (VARRAFNE) R2.6. 29 28,888 6
125 39612|EAAN > F BHARRE Y 2 — (VARARAFNE) R2.6. 29 72,685 5
126 39613|EBAY 7 7 BHARRE 2 — (VARARAFNE) R2.6.29| 150,028

127 39614|EAT—T L AT 2 — (VARRAFNE) R2.6. 29 86,103

128 39615|EA X R bRy 7 X BHAXRE Y2 — (VARARAFNE) R2.6. 29 4,305 10
129 39616|EAST A FiR—L BHARRE Y2 — (VARARAFNE) R2.6. 29 16,773 10
130 39815| BB HBRA XV F B Ry Z— (VARRAHFE) R3.9. 17 16,500 2
131 39882|mBIn—+ (hx®) (EBmHmEH®H |BARRELYX— (FBRRNAHE) R3.9.17| 2,497,550 1
132 39883|@HA—k (Fxa) @EmHEHH) |[BHARRELYZ— (FOXXRSFE) R3.9.17| 2,497,550 1
133 40296|/8> 7Ly hREZ VR BHRF LY 2 — (VAARAFE) R4.3.9 20,801 1
134 40599 |#—s717>7 vavLavas - 7a-r— BRI VX — (F AZXARAFE) R4.5.20| 148,830 1
135 40943|WEBH X 5 BHARRE Y Z— (VARARAFNE) R5.1.10 78,100 1
136 410414 —< L h A S AT 2 — (FARRAFNE) R5.2.3| 130,900 1
137 41080| 7Y RILY A 2= BHARRE Y2 — (VARARAFNE) R5.2.21| 165,000 1
138 41081|F4 A 7L A A&V K AT 2— (FARRAFNE) R5. 2. 21 66,000 1
139 41183| 7L — bR A v 22V K |BARRE Y& — (VARARAFNE) R5. 3. 22 17,050 1
140 41188|/ %R T YU = AT 2— (VARRAFNE) R5. 3. 23 34,500 4
141 411897 ress—r—rivarzsyintaraqs AT 2— (FARRAFNE) R5. 3. 23 23,400 2
142 41190{F 74 bAR—=FR 7 U —>  |BEZREY 22— (FAZRRAFNE) R5. 3. 23 78,400 1
143 42569| =BT — 7L AT 2 — (VARRAFNE) R7.7.11 66,440 10
144 42579|£#AT— 70 (BIR - FildE)  |BARRE Y 2 — (FAZRRALINE) R2.6.22 56,365 72
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145 39325 | B R AR SEE BTy A — (JOASAFE2F AvbY-) R2.6.29| 7,574,129 1
146 39326| (B A SEE BTy A — (JOASAFE2F AvbY-) R2.6.29| 577,389 1
147 39327(/Nv Ty ATy 24— (VARRAHHE2F /< bY—) R2.6.29 94,902 1
148 39328| (B AHIER=LE BTy A — (JOASAFE2F AvbY-) R2.6.29| 860,834 1
149 39329|F k> v v ATy K — (JORSAHE 2F /5w kY —) R2. 6. 29 49,078 1
150 39330 7L /T AERE ERTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 1,152,678 1
151 39331|v z 7 (HR4ER) BRI & — (FORSAFE2F /S kU —) R2. 6. 29 44,301 2
152 39332| =t > o BT R— (FOANAFE2F AYFY-) R2.6.29| 162,456 1
153 39333|BARKERKEBWOX ATy K — (JORSAHE 2F /5o kY —) R2.6.29| 285,545 1
154 39334|7 =0 F—T L ERTAE Y R— (FOANAFE2F AYFY-) R2. 6. 29 55,377 1
155 39335\ T - ABIRKEE BTy A — (JOASAFE2F AvbY-) R2. 6. 29 69,812 1
156 39336|EZ T 4EH ERTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 366,380 1
157 39337|BET— 7L AT K — (JORSAHE 2F /v kY —) R2. 6. 29 49,498 1
158 39338|% AT — 7LV ESEE AT K — (JORSAHE 2F /v kY —) R2.6.29| 445,639 1
159 39339|ftE> v v ERTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 122,564 1
160 39340|EBAEKERKZEBWOX AT K — (JORSAHE 2F /5w kY —) R2.6.29| 251,952 1
161 39341|7 —oF7—7 L BRI 24— (JAXSAEE 2F A bU—) R2. 6. 29 34,118 1
162 39342(/Ny LT BARHEY Z— (JARRAEFE2F R~y pU—) R2. 6. 29 29,027 2
163 39343\ ik MkeRes (GFHIRE2ER - 22E1) |BARE Y &— (VAARAEFHE2F /v FYU—) R2.6.29 465,061 2
164 39344|752 b F5—&vav 7 —HF— |BATREYE— (VAZRNAFE2F vk U-) R2.6.29| 1,732,167 1
165 39345(2F—Lav Ry avF—TY |BATREYE— (VARNAFE2F R kU -) R2. 6. 29 850,336 2
166 39346|F v b/ &X> Y2 sy K — (JORSAHE 2F /5w kY —) R2.6.29 52,490 1
167 39347|8rk 2R BASH LY & — (VORRAEE 2F AV b —) R2. 6. 29 34,118 2
168 39348| (A EHIAERR ERTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 730,135 1
169 39349|—tE> > v BASTHE Y2 — (FARRAFE 2F A pY—) R2.6.29 51,703 1
170 39350|EBRER 7 714V — ERTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 268,223 2
171 39351 Ny s RT Ly B— BASH Y & — (VORRAEE 2F AV b —) R2.6.29 13,122 2
172 39352| (A EHIAERR EHRTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 292,369 2
173 39353|%BAT — 7LV ESEE AT K — (JORSAHE 2F /<o kY —) R2.6.29| 511,252 1
174 39354 (%A T — 7 VB EE ST K — (JORSAHE 2F /Sv kY —) R2.6.29| 599,435 1
175 39355|m A1 BT R— (FOANAFE2F AvFY-) R2.6.29| 155,108 3
176 39356|F v Xy b TF—T UL ERTAE Y R— (FOANAFE2F AYFY-) R2.6.29| 102,355 1
177 39357|%BAT— 7LV ESEE AT K — (JORSAHE 2F /v kY —) R2.6.29| 445,639 1
178 39358(FT4 v ayr—v—FT—TI |BRZHErE— (VORRAEHE2F v bY-) R2.6.29 276,622 1
179 39359|% AT — 7LV EUSEE ST K — (JORSAHE 2F /Sv kY —) R2.6.29| 363,230 1
180 39360|F v Xy b TF—T L BASH Y & — (VORRAEE 2F AV b —) R2. 6. 29 91,332 1
181 393613l F v EX Y hTF—T I |Bsshty4— (FARAAFE 2F S0 b U—) R2.6.29| 113,378 1
182 39362|7 =0 F—T L EHRTAE Y R— (FOANAFE2F AvFY-) R2. 6. 29 38,843 1
183 39363|m A1 ERTAE Y R— (FOANAFE2F AvFY-) R2.6.29| 162,719 2
184 39364|F v Xy b TF—T L BT R— (FOANAFE2F AvFY-) R2.6.29| 114,690 1
185 39365\ hT7—FAh—F BASH Y & — (VORRAEE 2F AV b —) R2.6.29| 354,307 1
186 393663 —ILKT7—KAH—F BT RE YR — (JARNAFFE2F XV b —) R2.6.29 670,821 1
187 39367|feE7 I~ EHRTAE Y R— (FOANAFE2F AvFY-) R2. 6. 29 81,359 3
188 39368(Z7 v oL T BARHEY Z— (VARRAEE2F R~y pU—) R2. 6. 29 173,217 1
189 39369|V AL RF—T L BRI & — (JAXSAEE 2F A pU—) R2.6.29| 498,654 1
190 39370(/%4 Sz L7 BRI 24— (JAXSAEE 2F A pbU—) R2. 6. 29 26,140 1
191 3937T1|EBA T v 7 AV RTRERTEH |BARE Y2~ (VORRAHiE 2F v hU—) R2.6.29| 1,359,488 1
192 332 | BBREHEEBER 7/ — AR — |Bsshtya— (VARAAFE 2F S0 bU—) R2.6.29| 245,653 1
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193 39373|7 U —>vF—TL BASH Y & — (VORRAEE 2F AV Y —) R2.6.29| 157,601 1
194 39374(/Nv Ty U BRERE YR — (VARNAFFE2F v b —) R2.6.29 111,279 1
195 39375| B2 A Ay K — (JORSAHE 2F /5w kY —) R2.6.29| 141,985 1
196 39376|BET— 7L ATy K — (JORSAHE 2F /v kY —) R2. 6. 29 49,498 2
197 39377| 7L n7HEBE (FUYZR)  |@xhtyg— (JAXNA#E 2F Sy hU—) R2.6.29| 652,692 1
198 39378|F 2 —TT A RXA—H— BRT LY & — (VARRAFE 2F /8 b Y—) R2.6.29] 636,178 1
199 39379 KU v o F—T L BT A R— (FOANAFE2F AvFY-) R2. 6. 29 55,114 1
200 39380| BRITIH 5 dhER BTy A — (JOASAFE2F AvbY-) R2.6.29| 131,225 1
201 39381l —k—< v BARHEY Z— (FARRAEFE2F R~y pU—) R2. 6. 29 766,353 1
202 3938247k ER ATy K — (JORSAHE 2F /<o kY —) R2. 6. 29 28,869 1
203 39383|F v Xy bF—T UL BT R— (FOANAFE2F AvFY-) R2. 6. 29 73,748 1
204 39384| T —7IBISEY a — 7 — R |@EaTHE Yy & — (JARNAEFE 2F AvbU-) R2.6.29| 140,673 1
205 39385|— > v v ERTAE Y R— (FOANAFE2F AvFY-) R2. 6. 29 49,341 1
206 39386|BE)T— 7L AT K — (JORSAHE 2F /v kY —) R2. 6. 29 51,073 2
207 39387(1/1kRF /8> AR Z— (JARRAFE2F v pU—) R2. 6. 29 1,470 12
208 39388|1/1FIL/8v BRI 24— (JAXSAEE 2F A bU—) R2. 6. 29 1,575 12
209 39389|1/1\d &R TIL/X > BRI 24— (JAXSAEE 2F A bU—) R2. 6. 29 2,152 12
210 39390|1/1/ Y RT 4 v iR TIL/S v |@xkHey & — (FARSAEE 2F Sv pU-—) R2. 6. 29 3,202 12
211 39391|v — /S BRI 24— (JAXSAEE 2F A bU—) R2. 6. 29 3,622 24
212 39392\ HEET v U ERTAE Y R— (FOANAFE2F AvFY-) R2. 6. 29 3,149 2
213 39393| 72 v kT v BRI & — (JAXSAEE 2F A pbU—) R2. 6. 29 3,149 1
214 39394 | (B RS RS EE BTy A — (JOASAFE2F AvbY-) R2.6.29| 512,826 1
215 39230\ %S EE ERTAE Y R— (FOASAFE 1F REE) R2.7.10| 668,800 1
216 39231|—#E> v BRRAL Y A~ (VORSAFE 1F BhaE) R2.7.10 84,700 1
217 39232|FAEE BATRE Y 4~ (JAXRSAEE 1F RAE) R2.7.10 77,000 1
218 39233| /B2 —/L FTF—7 L BALFL Y Z— (VOARAFE 1F BRAE) R2.7.10| 407,000 1
219 39234| R AR (P4 — B3 sy & — (FORSAHE 1F REE) R2.7.10] 137,500 1
220 39235|F## BRI Y 2 — (JAXSAHE 1F QAR R2.7.10 95,700 1
221 39236|1F%A BRI Y & — (JAXSAHE 1F QA R2.7.10 28,600 1
222 39237|ARF—7 L ERTAE Y R— (FOAAFE 1F REE) R2.7.10 96,800 1
223 39238|fE¥A BRIy 2 — (JAXSAHE 1F QA R2.7.10 33,000 1
224 39239|#%&A BASH Y & — (VORARAIE 1F RAE) R2.7.10 41,800 1
225 39240| R A #A BRI Y 2 — (JAXSAHE 1F QA R2.7.10 28,600 1
226 39241 | ABUREERL > 5 — — X BRRAL Y A~ (VORSAFE 1F BhaE) R2.7.10| 193,600 1
227 39244 | Bk ik BALFL Y Z— (VOARAFE 1F BRAE) R2.7.10| 360,800 1
228 39246|V Uy RIL 77> bz 7 |BShty&— (JARRAHE 1F RAME) R2.7.10 29,700 1
229 39247V AN KEF—T L B Z— (VARRAEHE 1F RAKE) R2.7.10 139,700 1
230 39248| B2 iRk ERTAE Y R— (FORAFE 1F REE) R2.7.10| 575,300 1
231 39249| B A H#A BRI Y & — (JAXSAHE 1F QA R2.7.10 44,000 1
232 39250\ 27T £ HIRFEEE BASH Y 2 — (VORARAIE 1F RAE) R2.7.10| 115,500 1
233 39252 |F 4 BALFL Y Z— (VOARAFE 1F BRAE) R2.7.10 19,800 1
234 39264 ERF A b7 U —H— BATRE Y 4— (VARSAEE 1F RAE) R2.7.10| 212,300 1
235 40495|7 3~ BT & — (VARSAHE 1F HEE) R4. 4. 14 33,600 4
236 39268|EFL v ALY &~ (VORRAHFHELF Sz T7HyF>B) R2.7.27 60,500 1
237 39414 | B S RS EE Bsit 8 — (VARRAHE1F Y275y F2B) R2.6.29| 522,799 1
238 39415 > v o BARAEY 24— (VARRAFEIF 2 7%y F2B) R2.6.29 93,170 1
239 39416(/Ny o> IV 7 B FLY 24— (VORRAFE1F v 7% vy FB) R2. 6. 29 23,358 1
240 39417\ K7avF4 a3+ — BT 8 — (JAARAFELF 275y FVB) R2.6.29| 682,369 1
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241 39418|AF—Lav Ry v avA—Ty  |@rEfe2— (JAXSAHELF 22 T7%yFVB) R2.6.29| 367,429 1
242 39419\ bR Ty Y BHTALS 2~ (FORSAFELF Sz 75y F¥B) R2. 6. 29 50,390 1
243 39420{ AR TF—7L (RER) BRI &~ (JARAAHE LF vx 7%y FB) R2.6.29| 103,930 1
244 39421\ Y4 FA—F BHE Y 5= (JRANAFE LF v x 7%y FVB) R2. 6. 29 6,561 1
245 39422|7 — o F—T I BHEE Y £~ (JRANAFE LF v x 7%y FVB) R2. 6. 29 29,289 1
246 39423| 2R & v R I ¥ Y — BRI &~ (JARAAHE LF vx 7%y FB) R2. 6. 29 93,957 2
247 39424|F v Exy b T—T L BATF LY 4~ (JARSAFE LF S 27%yF2B) R2. 6. 29 76,268 1
248 39425|% R T — 7V ESEE BHEF LY 4~ (JOARAFELF 275y FVB) R2.6.29| 234,105 1
249 39426|m A1 BATF LY 4~ (JARSAFE LF S 2T7%yF2B) R2. 6. 29 63,670 2
250 39427|F 2 =TT A XA —h— BATF LY 4~ (JARSAFE LF S 2T7%yF2B) R2.6.29| 203,136 1
251 39428|—#tE> v BHEE Y 5~ (JRANAFE LF v x 7%y FVB) R2. 6. 29 46,611 1
252 39429|R—H U —KiR BRSO Y &~ (JARAAHiE 1F v 275y FB) R2. 6. 29 4,252 7
253 39255 | (A~ A AVIRERY v —  |@rsshers— (JRRSAFE IF STy FA) R2.7.27 61,600 1
254 39256|FBF L > B E— (VORRAFE LF 75y FVA) R2.7.27 60,500 1
255 39257|fF¥A BRI &~ (JARAAHE LF vz T7*yFoA) R2.7.27 14,300 1
256 39395| X Fa v BRE BHRTALY 2~ (FORNSAFELF L2 75y F2A) R2. 6. 29 75,061 1
257 393962 F—LavRyvavF =Ty  |BARREYE— (JAORRAFELF YT HYFVA) R2.6.29| 703,365 1
258 39397 |k ER EALAE Y 4~ (JORRAIE IF 275y FLA) R2. 6. 29 34,118 1
259 39398| 77— F—T7 L BHEE Y 5= (JRANAFE LF S x 7%y FVA) R2. 6. 29 24,565 1
260 39399 HR7 Z 4V — BRI Y &~ (JARAAHE LF vz 7%y FoA) R2. 6. 29 82,409 1
261 39400\ H R T7—7 L (RER) B E— (VORRAFELF 75y FVA) R2.6.29| 103,930 1
262 39401| =t > 7o BAESHE 8 — (FARSAFE1F Y2 FPEyFUA) R2. 6. 29 80,572 1
263 39402|/Ny 7z L7 BRI Y &~ (JARAAHE LF vz 7%y FoA) R2. 6. 29 19,579 1
264 39403| B2 B &4 BHTALS 2~ (FORSAFELF Sz 75y FYA) R2.6.29| 313,890 1
265 39404|%ET—7 )L EALAE Y 4~ (JORRAIE IF 275y FUA) R2. 6. 29 44,511 1
266 39405| X% v F I &Y — BRI Y &~ (JARAAHE LF vz 75y FoA) R2. 6. 29 93,957 1
267 39406| ¥ AT — 7V ESEE BATT LY S~ (JARSAFE LF S 2T7FyFA) R2.6.29| 234,105 1
268 39407| % F 1 BHEFE Y 2~ (JOARAFELF Sz 75y FUA) R2. 6. 29 59,209 2
269 39408|7 —o F7— 7L BRI Y &~ (JARAAHE LF vz 7%y FoA) R2. 6. 29 27,715 1
270 39409|F 2 =TT A XA —h— BATT LY S~ (JARSAFELF ST+ v FA) R2.6.29| 203,136 1
271 39410(2/3: T I /¥ BHE Y 5= (JRANAFE LF S x 7%y FVA) R2. 6. 29 1,312 5
272 39411(2/3 R T Is¥v BRI Y &~ (JARAAHE LF vz 7%y FoA) R2. 6. 29 1,522 4
273 39412(2/3RNBERT NI EALAE Y~ (JORRAIE IF 275y FLA) R2. 6. 29 2,021 4
274 39413|2/3/ Y RT 4 v U RT ISV |Brsit s 5— (JARRAHE LF Y2 7HyFVA) R2. 6. 29 2,834 5




